G Multiplication

Q1. Find how many groups of each object is shown below and match them with the
correct multiplication expression:

4 x 4

4 x3

4 x2

Q2. Multiply on the number line:
2x4=

(=]

—_

\
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Q4.

Q5.

Qeé.

Q7.

Q8.

Q9.

Multiply by rounding off the multiplicand:
472 x 2

Rounding off multiplicand to the
Nearest 10 Nearest 100

X = X =

Rajat buys 25 milk packets for his shop every day. How many packets will he
buy in 8 days?

Answer: milk packets

Rani brought 30 bunches of bananas for distribution. If each bunch had 6
bananas, how many bananas did Rani bring in all?

Answer: bananas

Fill in the blanks:
{ { { { { { { { {

4 bunches of 5 balloons = 5 bunches of balloons = balloons

Fill in the blanks:

a. 5x __ =5000

b. 60 x =600

c. ___ x100=7000

d. __ x 1000 = 24000

Rashmi has invited 28 guests for her birthday party. If each guest eats 3
chapatis, give an estimate to nearest 10 of how many chapattis she should ask
her caterer to cook.

Answer: chapattis

Q10. The electricity charges for each units is ¥ 5. Rohan used 254 units of electricity

in this month. Estimate the electicity charges Rohan would have to pay at the
end of this month.(rounded off to nearest 10)

Answer:
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Q11.50 groups of 7 children each went for a picnic. How many chocolates would be
needed if one chocolate is to be given to each child?

Answer:

Q12. Compare and put the correct sign <, > or =:

a. 5x400 _ 4 x500
b.7x350 _ 350x7
c. 8000x1 100 x 80
d. 160 x 10 60 x 100

Q13.1In the figure below, 6 groups of 3 stars are drawn on the left side. Draw stars in
g group
groups of 6, so that the total numbers of stars on both sides are equal.

o ok

o ok

o5 ok

Q14. Complete the series:
6, 12, 18,

Q15. Pussy, the cat, is climbing up a ladder. It jumps 4 steps at a time. On which step
will it reach after 6 jumps?

=
Answer: step
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a 4 x 2
4 x 4
C 4 x3

2 I | : | | | : : | | | > 2 X 4 — 8
0 1 2 3 4 5 6 7 8 9 10
3' i?
4 Nearest 10: 470 x 2 = 940 Nearest 100: 500 x 2 =1000
5. 200 milk packets
6. 180 bananas
7 5 bunches of 4 balloons = 20 balloons
8 a. 1000 b. 10 c. 70 d. 24
9. 90 chapatis
10. T 1250
11. 350 chocolates
12. a. = b. = c. = d. <
13.
¢« 9 4RI
R R4 RPIK
« X R IR9X
R 4R R
« X R4
R | RPYK
14. 24, 30, 36
15. 24™ step
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